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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘A’ can
be represented by 24, 95, etc | and ‘M’ can be represented by 11, 66, etc
Similarly, you have to identify the set for the word “RAIN".

TH e, vad TH HEA-HAE aRT gRir wn R, otar B Rwed # @
et v & feam s R faweut & QU v wur-wdHg HERT & qr a9t
grR1 g arw § Star & Bu aw & aeyel A {1 eyl F waw AR
ufth 1 T 0 @ 4 § 3R IgENH 5 d 91 3T HEGR ¥ UH HaR
B Ued 3uh Ofs AR g F Taew T gR R S adhar §
3ETR0T & AU ‘A’ Y 24, 95, TG ERT ST ST Febal § AT ‘M A 11,
66, & SR AT SN FHaT §1 M @ A 3D UH A RBu Uuweg
“RAIN” & foU To[g 1 UgaiEan o

Matrix-1 Matrix-ll

Jg-l 3l
0j]1|2(3]|4 5(6(7(8(9
O[R|C|W|G]|I S5|O|K[D|F|X
1|K|M|O|QfS 6 |G|M[N[H|V
2{UIW|Y|B|A T(E|O[Y([J|T
J|F|H|[J|L|N 8|C|F|W[L|[R
4 AIR|T|V|X 9|A|S|U[N|P

Options:
1) 41,95, 69, 86

2) 00, 24,04, 98
3) 89, 40, 88, 30

4) 86, 02, 32, 31
Correct Answer: 00, 24, 04, 98
Candidate Answer: 00, 24, 04, 98

QID: 104-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% W A # ¥ 3W IR Hgl F gAw
Sw & w3l BT &
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Options:
1

Correct Answer:

Candidate Answer:

QID: 105 -

Which answer figure will complete the pattern in the
question figure?

Fig O 3R FFA U HEla & ufawT g
HLaN?
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Options:
1

a A 8 &

o
=

Correct Answer:

4

Candidate Answer:

“

QID : 106 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ifg T gUUT Y AB [T W @ AT, ar & T
IR FEAA A ¥ Al O Jpla uw gy &
e ufafass @efre
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Options:
1

2)

3)

4

Correct Answer:

Candidate Answer:

QID: 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ F uy pfaal A @ wgErR wee @
ABH Dead dUT Theld & g, dg ol 3R HTHia
S e gam?

& [A[A
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Options:
1

2

~

3

~

4

=

~

Correct Answer:

Candidate Answer:

QID : 108 - If 'P' means '+, 'Q' means ', 'R' means '+ and 'S' means 'x, then
1R33S11P4=?
afe ‘P 1 a7ef '+, 'Q' a1 a1ef ', 'R @hT 91ef '+ AT 'S' T 31 X' &Y,

1MR33S11P4=?
Options:

1) 23/3

2)13/3

3) 21/3

4) 26/3

Correct Answer: 23/3
Candidate Answer: 21/3

QID:109-If12#3@2=38and 14 @2#3=20,then4#3@1="?

I 12#3@2=38qM14@2#3=208,A4#3@1="?
Options:

Correct Answer: 13
Candidate Answer: 13
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Brain
2. Boast
3. Brail
4. Broom
5. Boom

e el areaahtar & S aTet 3 & SR ford |

1. Brain
2. Boast
3. Brail
4. Broom
5. Boom

Options:
1) 25134

2) 25314
3) 25341

4) 25431
Correct Answer: 25314
Candidate Answer: 25314

QID : 111 - In the following question, select the missing number from the given series.
3,6,11,18,?

fafafea vy 7 Ry 7 el & @ qua sie 71 fifsg

3,6,11,18,?

Options:
1) 27

2) 28
3)26

4) 31
Correct Answer: 27
Candidate Answer: 27

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AC, FH, KM, ?
e arger feram v 8, fore @ qan v g 81 g g farepredt & @ a5 @t faeed g, St srgerd it g AR

AC, FH, KM, ?
Options:

1) PQ

2) PR

3) PS

4)Qs
Correct Answer: PR
Candidate Answer: PR

QID : 113 - In the following question, select the odd word from the given alternatives.

frfafea uer & Ry 1y e & § fawm s & gfg)
Options:

1) Father

foar

2) Mother
HTdT

3) Brother

RIE]

4) Sister-in-law
areft

Correct Answer: Sister-in-law
arefY

Candidate Answer: Sister-in-law
arefY
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QID : 114 - In the following question, select the odd number pair from the given alternatives.

frafafea v 8 Ry g e 8§ § fwm g gm &t gl
Options:

1)9-25

2) 49 - 81

3)121-179

4) 25 - 49
Correct Answer: 121 - 179
Candidate Answer: 121 - 179

QID : 115 - In the following question, select the odd letters from the given alternatives.

FafafEa us A Ry g foehedt 7 @ faww sieri &t gi-g)
Options:

1) AEI

2) PTX

3) CoK

4) MQT
Correct Answer: MQT
Candidate Answer: MQT

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Vegetable, Peas, Orange
Ig SR gAY it A Ry 7 it & e & ey o1 vl v a=ar g1

Options:

1)

2)

©)o
©
QD

Correct Answer:

©)o
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Candidate Answer:

©o

QID : 117 - In the following question, select the related word from the given alternatives.

Chair: Sit::Bed:?

fafafea vy 7 Ry 7o el & @ 9&fda g ot gl
T dST TS : ?

Options:

1) Wood

RS

2) Iron

RiE

3) Sleep

GIE]

4) Mattress
T

Correct Answer: Sleep

Candidate Answer: Sleep

QID : 118 - In the following question, select the related number from the given alternatives.
12:169::14:?

FfafEa us A Ry 71g foeredt 7 @ H&fea e & gihmg)

12:169::14:?

Options:

1) 125

2) 225

3) 625

4) 425
Correct Answer: 225
Candidate Answer: 225

QID : 119 - In the following question, select the related letters from the given alternatives.
DAM:FCO::PEN:?

fafafea vy § Ry g faredt § @ Tefda sreri st gfagl

DAM:FCO::PEN:?

Options:

1) RGP

2) RGQ

3) RFP

4) RFQ
Correct Answer: RGP
Candidate Answer: RGP

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
ACCOMPLISHED
FrafafEa el & @ a5 e gAY St 3 7Y 1ea 3 S1&RT o1 TRINT dhech g1 ST ST SehdT|

ACCOMPLISHED
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Options:
1) SHED

2) SLIM
3) READS

4) DISH
Correct Answer: READS
Candidate Answer: READS

QID : 121 - Amit and Chintu starts from same point and walks 20 km in opposite directions to each other. Amit turns left and walks 20 km. Chintu turns left and walks
20 km. How far (in km) are they from each other?

Sifia Fur iz Ten 8 fig & T oy ahed & aum el faudia fam & 20 fob . Tera &1 siffia amff ofk gea 20 fo5.#fY. =retar 81 fiig amff ik ggaw 20 fr . sarar 1 d g g &
foraf gt (.. F) &

Options:

1) 80

2) 40v2

3) 160

4) 80v2
Correct Answer: 40v2
Candidate Answer: 40v2

QID : 122 - Present ages of X and Y are in the ratio 5 : 6 respectively. After seven years this ratio becomes 6 : 7. What is the present age (in years) of X?

X TATY I AT 3G AT 5 6 o SIUIT # & | 1 I8 YT I SIIUTd 6 : 7 &1 ST §1 X & ada Sy (awt #) =1 82
Options:

1) 35

2) 42

3) 49

4) 28
Correct Answer: 35
Candidate Answer: 35

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All cups are plates.
1. All plates are blue.

Conclusions:

I. All cups are blue.
Il. Some plates are cups.

12 eQ 7Q v H p© U SR 3k I1G 39 HYA! W YR FS Fehy f&Q 7 8, gTetifch I8 G F1d a2t § fo=ar g1 Fendt 51 T freeny o ofiR e e & fos feg g e
@ fsry, g Mg sl & STUR W giRhed &1

hY:

|. gff U e &l
I1. Toft wie Hieft &1

fArseptf:

. &+t &y it 81

Il. & W HU &

Options:

1) Only conclusion (1) follows.

heet fsendt (1) TE 81

2) Only conclusion (Il) follows.

haet e (1) T 21

3) Both conclusion follow.

2t gt e wiet €1

4) Neither conclusion () nor conclusion (Il) follows.

Fat e (1) 7 & et (1) 9t &

Correct Answer: Both conclusion follow.

2t & foremd @t &1
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Candidate Answer: Both conclusion follow.

T & freendf ot &1

QID : 124 - In a certain code language, "YOUR" is written as "ZPVS". How is "WITH" written in that code language?

U fAfI® s T &, "YOUR" &t "ZPVS" forar STrar &1 39 s omer & "WITH" &t foha UepR forar sirem?

Options:
1) XKUJ

2) XJUl
3) YJul

4) WJUI
Correct Answer: XJUI
Candidate Answer: XJUI

QID : 125 - In a certain code language, "CAR" is written as "22" and "EAR" is written as "24". How is "SIT" written in that code language?

U fAfA® e T &, "CAR" @t "22" quT "EAR" &l "24" foRaT SITdT &1 59 ahls 9o § "SIT" &t fohg uepR forar saem?
Options:

1) 47

2) 48

3) 49

4) 50
Correct Answer: 48
Candidate Answer: 48

QID : 126 - How many positive factors of 333 are there?

333 & fohan YFTeH TUEE &2
Options:

15

2)8

3)6

4)9
Correct Answer: 6
Candidate Answer: 6

QID : 127 - What is the value of 603 x 5977

603 x 597 T AT &1 &7

Options:

1) 359991
2) 359997
3) 360003
4) 359996

Correct Answer: 359991
Candidate Answer: 359991

QID : 128 - How many multiples of 7 are there from 1 to 100 which are not multiples of 4?

1% 100 %k 7 & QO fora= T7oTat & Sit 4 & T[uTeT 81 82

Options:
1)14

2) 11
3)10

4)12
Correct Answer: 11
Candidate Answer: 11
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QID : 129 - Which of the following statement/statements is/are true?

1. Odd x Even = 0dd
1. Odd x Odd = Even

fFafofea § 9 aF ai/d s g9 &2

1. fovm x g7 = fum
1. fwm x foww = 59

Options:
1) Only |
e |

2) Only Il
Shad |l

3) Bothland Il
| qT 11 &

4) Neither | nor Il
Fariagi

Correct Answer: Neither | nor Il

TFariag

Candidate Answer: Neither | nor I
Faiag

QID : 130 - What is the remainder when 622 is divided by 13?

STe 622 @t 13 & fqunfSia foran sirar &, ot vt @ ghm?
Options:

1)2

2) 11

3)9

4)17
Correct Answer: 11
Candidate Answer: 11

QID : 131 - Which of the following number is not divisible by 4?

frfafea & @ o & 9@ 4 8 favrsa 78 87

Options:
1) 325752

2) 111184
3) 222264

4) 444410
Correct Answer: 444410
Candidate Answer: 444410

QID : 132 - A can do a piece of work in 24 days. He worked for 6 days and B finished the remaining work in 12 days. B alone can do the whole work in how many
days?

A foreht orf ot 24 fet & = TehaT 81 3T 6 R vl o e QW ol B+ 12 Rt o o ok B sichen R o ot e Rt A oRT R ke &7
Options:

1)12

2)16

3)18

4)24

Correct Answer: 16

Candidate Answer: 16

QID : 133 - If 3/7! of a cistern is filled in 36 minute, then what is the time (in minutes) needed to fill the remaining part?

g% &Rl &1 3/7-at AT 36 fie & wR SI1aT 8, A S §U 9T &l A H e ww (e ) etm?
Options:

1) 48

2) 42

3)44

4) 52

Correct Answer: 48

Candidate Answer: 48
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QID : 134 - If the ratio of the volume of two cubes is 125 : 27, then what is the ratio of their edges?

Ife & &1 & SMraa T SIUT 125 : 27 B, A IThY TSl T SruTe R 87
Options:
1)5:3

2)5:9

3)25:9

4) 125:27

Correct Answer: 5: 3
Candidate Answer: 5: 3

QID : 135 - The marked price of an article is Rs 720 and is sold at a discount of Rs 108. What is the discount percentage?

T a%] 1 Sifehd e 720 3 & JUT 39 108 T Y g W 4T ST &1 e ufard a1 82

Options:
1) 15

2)10

3)12

4)18

Correct Answer: 15
Candidate Answer: 15

QID : 136 - The marked price of an article is Rs 950. A shopkeeper gives a discount of 10% and still makes a profit of 80%. What is the cost price (in Rs) of the article?

U I%g ol Sifehd T 950 3 &1 Geh hTER 10% i Pe T & aT U +ff a8 80% o1 AT AT | a%g i 578 e (3 ) T 82

Options:
1) 425

2) 450
3) 400

4) 475
Correct Answer: 475
Candidate Answer: 475

QID : 137 - Two numbers are in ratio 2 : 7. If their difference is 80, then what is the smallest number?

3 TREaTS AT SiguTd 2 1 7 &1 afE e SRk 80 B, ot ged B! U 1 87

Options:
1)18

2)24
3)16

4) 32

Correct Answer: 32

Candidate Answer: 32

QID : 138 - If 2A = 5B = 10C, then whatis A: B : C?

afe 2A=5B=10C g, dtA:B:Camg?

Options:
1)2:5:10

2)5:2:1
3)2:5:3

4)1:2:3
Correct Answer: 5:2:1
Candidate Answer: 5:2: 1

QID : 139 - The average of 35 numbers is 6. The average of the first 18 numbers is 4 and the average of the last 18 numbers be 9. What is the value of middle
number?

35 TAT3 ohT 3T 6 &1 TUH 18 T3 ohl 3T 4 T 3ifad 18 Txearan} &t 3fd 9 &1 Hex TReT ohl HIH Rl 82
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Options:
1) 21

2) 24
3)27

4)18
Correct Answer: 24
Candidate Answer: 24

QID : 140 - If the ratio of the cost price and selling price of an article is 5 : 4, then what will be the loss percentage?

If& Gor 9% & ohd e T fehd e o1 S1guTd 5 : 4 §, 1 g1 ufaera @ar ghm?

Options:
1) 20

2)25
3) 30
4) 50

Correct Answer: 20
Candidate Answer: 20

QID : 141 - If the profit is 25%, then what will be the ratio of cost price to selling price respectively?

TfE AT 25% &, I ShET: T Ted aT fIehd e T SIUTd a1 g2
Options:

1)3:4

2)4:5

3)2:3

4)5:6
Correct Answer: 4:5
Candidate Answer: 4: 5

QID : 142 - When 120 is subtracted from 70% of a number, the result is 90. What is the value of the number?

foret ST & 70% B ¥ 120 e WR gRomy 90 31147 & | T ol 71 1 82
Options:

1) 300

2) 280

3) 450

4) 270
Correct Answer: 300
Candidate Answer: 300

QID : 143 - If one-third of a number is 75, then what will be the 80% of that number?

gt fendt Tean anl Te-faeTs 75 &, it 39 e a1 80% &R ?
Options:

1) 180

2) 240

3)270

4) 360
Correct Answer: 180
Candidate Answer: 180

QID : 144 - Keshav can cover a certain distance in 12 hours if he walks at the rate of 8 km/hr. If he covers the same distance by train at the rate of 16 km/hr, then what
is the time (in hours) taken by him?

g afk 8 fon.w./der A 1fd § et ot a8 Ten FfYa gt 12 68 § o o FordT 81 af a8 Tt o 3ol 9 16 R /der & 1fa & qg o, dt I8 v woa (gt #) awhm?
Options:

13

2)5

3)6

4)9

Correct Answer: 6
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Candidate Answer: 6

QID : 145 - If 350 meters long train takes 14 seconds to cross a pole, then what is the speed (in km/hr) of the train?

Tfe ger 350 Hiex ol It Uk @ Bt IR A & fT 14 Yarvs A 8, @t ISt iy fa (.. /e F) s 82
Options:

1) 54

2)72

3) 90

4) 36

Correct Answer: 90

Candidate Answer: 90

QID : 146 - A sum was invested for 7 years at a certain annual rate of simple interest. If the interest rate is increased by 8%, then the interest increases by Rs 2240.
What is the sum (in Rs) invested?
eh YRITRY <aToT ht fopet anffep ek @ 7 aef & forg TmerRor =amst wR faer & Siret &1 afe somet 2R 8% & 9T &) 31, at saret 2240 3 9 95 Srar &1 Raer Y 78 e=1fy (3 8) s g2

Options:
1) 3500
2) 4000
3) 5000
4) 6000

Correct Answer: 4000
Candidate Answer: 4000

QID: 147-
The bar chart given below shows the number of four-
wheelers stolen in two cities A and B from the years
2008 to 2015.

2 R o cvz By & af 2008 ¥ 2015 JF ar AR
AguB# = gr <ol aeat & = @ i

I T
O City A /T A ® City B /eI B
[ ot o
‘(;;. 400 g gﬁ 8§ ‘3#00
® ¢ 1lsie|mrle 3
9, o™
3E300—N
=
F & 200 -
3
= 100 -
=
S Ra 0-
E% g AE = 8 a2 % 2
3 © 6 o 0 0o o o o
N N N (] N N N N
Year /9%

In which year, the total number of four-wheelers stolen was maximum?

ore o 7, TR gu dafgar argHi i el e qad 31fdeh 87

Options:
1) 2010

2) 2013
3) 2015

4) 2009
Correct Answer: 2013
Candidate Answer: 2013
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QID: 148 -

The bar chart given below shows the number of four-
wheelers stolen in two cities A and B from the years
2008 to 2015.

2 R o guz By & a¥ 2008 ¥ 2015 JF ar AR
Aamsﬁﬁﬂguﬁuﬁmmwﬁzﬁrmaﬂmﬁm

I T
O City A /2T A B City B/ B
SF 507 § 38 g . s 2
S. ¢‘*8 §<r Dg oov
9, oo
3‘E_ 300 1K
=
F & 200 -
3
= 100 A
=
S Ra 0
E‘E E e = 8 s 3 o
> (ew] o o o [en] o o | o |
N N N N N N N N
Year/a¥

In city A, the percentage change in the number of four-wheelers stolen in two consecutive years is maximum in which year?

TR A H, AT & auT A IR gg Fafedt arg-t o dwer # ufaid aRadH fhg avf 7 sifdeaH g7

Options:
1) 2009

2) 2011
3) 2012

4) 2013
Correct Answer: 2009
Candidate Answer: 2009
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The bar chart given below shows the number of four-
wheelers stolen in two cities A and B from the years
2008 to 2015.

Y R o cuz Ry & af 2008 ¥ 2015 JF ar A
AguB# I gr ol aeat & e @ i

I T
DCityA/eEXA B CityB/2eIB
c o
‘5. 400 g ggﬁ (OD§ C’voo
® ¢ 1s e mrY e M 3
3, o
8E300—N
=
F & 200 -
3
< £ 100 |
=
S Ra 0-
E% 888 58 8 2
% © 6 o 0O 0o o o o
N N N N N N N N
Year /9%

The number of four-wheelers stolen in city B is what percent of that of city Ain 2014 ?

¥ 2014 7 g3 B & TR gu Srufear argat &t T e A 1 fhan ufdwra 82
Options:
1) 83.33

2) 120
3)77.77

4) 128.57
Correct Answer: 120
Candidate Answer: 83.33
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QID: 150--
The bar chart given below shows the number of four-
wheelers stolen in two cities A and B from the years
2008 to 2015.

&= R 7w gus R # a¥ 2008 @ 2015 I& ar AT
Aamsﬁﬁﬂﬂguzﬁuﬁmmwﬁzﬁrmaﬁaqﬁm

I T
OCityA/SEIA  ® CityB /2% B

c o
%Esoo_ I 8, 8 358 %
'(;;. 400 - g gﬁ 8% o [ee)
® ¢ s |||l N 3
s, o
S 300 1~
=
F & 200 -
3
€ E 100 -
=
S Ra 0-
E% 888 58 8 2
g © 6 0o 0O 0 0 © o

N N N N N N N N

Year /9%

What is the average number of four-wheelers stolen in city A in the given period?

G 7 Srafd #, wgr A # IR gu Hufar argt it shwa T a1 82

Options:
1) 358

2) 364
3)376

4) 396
Correct Answer: 376
Candidate Answer: 376

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

It was also claim that the players (1)/ were confused with drastic changes (2)/ in the strategy of every match (3)/ No Error (4)
Options:

Correct Answer: 1
Candidate Answer: 1

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Tension prevail late on Friday after (1)/ angry protesters pelted stones at the police, (2)/ torched vehicles and vandalized public property (3)/ No Error (4)
Options:

Correct Answer: 1
Candidate Answer: 1
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QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Sunita was musing memories of the past.

Options:

1) on

2) off

3) for

4) to

Correct Answer: on
Candidate Answer: on

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Karishma has not been able to recall where
Options:
1) did she lived

2) does she lived
3) lived her

4) she lived
Correct Answer: she lived
Candidate Answer: she lived

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Bewitched
Options:
1) Disgusting

2) Captivated
3) Turn of

4) Prevent
Correct Answer: Captivated
Candidate Answer: Disgusting

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Commotion
Options:
1) Fuss

2) Calm
3) Silence

4) Quiet
Correct Answer: Fuss
Candidate Answer: Fuss

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Chagrin

Options:

1) Embarrassment

2) Delight

3) Pleasure

4) Happiness
Correct Answer: Embarrassment
Candidate Answer: Embarrassment

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Arid
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Options:
1) Fertile

2) Desert
3) Thirsty

4) Dusty
Correct Answer: Fertile
Candidate Answer: Fertile

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Circuitous
Options:
1) Circular

2) Direct
3) Long way

4) Roundabout
Correct Answer: Direct
Candidate Answer: Direct

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Apposite
Options:
1) Suitable

2) Inappropriate
3) Timely

4) Relevant
Correct Answer: Inappropriate
Candidate Answer: Inappropriate

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

On the wrong side of sixty
Options:

1) To be inexperienced

2) To be older than sixty
3) To be able to convince
4) To be unsuitable

Correct Answer: To be older than sixty
Candidate Answer: To be older than sixty

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A cakewalk

Options:

1) Leisurely walk

2) Romantic walk

3) Long drive

4) Something very easy

Correct Answer: Something very easy

Candidate Answer: Something very easy

QID : 163 - Improve the bracketed part of the sentence.

The Finance Minister has acknowledged that the challenge before the government now (are to work out) both policy and investment measures to boost momentum.
Options:

1) were to work out

2) will to work out

3) is to work out

4) No improvement
Correct Answer: is to work out
Candidate Answer: is to work out
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QID : 164 - Improve the bracketed part of the sentence.

For a change, performance, and not political expedience, (seem to have) dictated the nature and extent of theshuffle in the Council of Ministers.
Options:

1) seemingly has

2) seems to have

3) seemed to

4) No improvement
Correct Answer: seems to have
Candidate Answer: seems to have

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Words which are opposite in meaning
Options:
1) Synonym

2) Antonym
3) Homonym

4) Pseudonym
Correct Answer: Antonym
Candidate Answer: Antonym

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Happening every second year
Options:
1) Bilingual

2) Aerial
3) Binomial

4) Biennial
Correct Answer: Biennial
Candidate Answer: Biennial

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Accedent

2) Akcident
3) Accident

4) Acciant
Correct Answer: Accident
Candidate Answer: Accident

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Acomplish

2) Accomplish
3) Akcomplish

4) Accomplesh
Correct Answer: Accomplish
Candidate Answer: Accomplish

QID : 169 - Rearrange the parts of the sentence in correct order.

Small scale industry

P: and marketing of output

Q: for procuring raw material
R: needs government's support
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Options:
1) PQR

2) RQP
3) QRP

4) QPR
Correct Answer: RQP
Candidate Answer: RQP

QID : 170 - Rearrange the parts of the sentence in correct order.

Sapna, a small

P: on her three

Q: acres of land

R: farmer, grows groundnuts

Options:
1) RPQ
2) RQP
3) PQR

4) PRQ
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
the of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
performed other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

"the
Options:
1) funny

side of religion.

2) active
3) observe

4) social
Correct Answer: active
Candidate Answer: social

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
the _____ of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
performed other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

to empirical entities
Options:

1) super

2) beautiful

3) related

4) indifferent

Correct Answer: super
Candidate Answer: super

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
the _____ of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
performed other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

as the of special clothing and the immersion
Options:

1) reminding

2) weaning

3) wearing

4) gearing
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Correct Answer: wearing
Candidate Answer: wearing

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
the of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
performed other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

performed
Options:
1) with

other people and in public.

2) from
3) at

4) of
Correct Answer: with
Candidate Answer: with

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
the of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
performed other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

these acts is considered a
Options:
1) honour

2) pride
3) fun

4) sin
Correct Answer: sin
Candidate Answer: sin

QID : 176 - Tax on import is an example of which among the following?

IMaTd R o FEfafaa # 9 frgenr e &2

Options:
1) Foreign trade
fRaft s

2) Trade Barrier
IR 37aRe

3) Economic growth

4) Globalisation

Correct Answer: Trade Barrier
IR 37aRTeT

Candidate Answer: Economic growth

QID : 177 - What are the things which people seek besides income in economy?
I. equal treatment

Il. Freedom
11I. Security

SrfeqaeT # 31T & STATaT ART GRT AT hl ST aTelt <ol o T 872
1. SRISR ITAR

1. TSIy
1. gRen
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ptions:

1) only|

hae |

2) only Il
had |
3)Both Il & IlI
Il 3T 1l &=t
4) AllL &N
I, 112 1 geft

Correct Answer: All |, Il & 11
I, 1 @ 1 gf

Candidate Answer: All |, [l & Il
I, 1 @ g

QID : 178 - Fundamental Rights is enumerated in which part of Indian Constitution?

WR Tfrer & e T & Hifdres sifder afefa &2
Options:

1) Part |

ART |

2) Part Il

il

3) Part Il

il

4) Part IV

arT IV

Correct Answer: Part llI
arT

Candidate Answer: Part IlI
ATl

QID : 179 - Democracy is a form of government in which rulers are

Sehd= T T Yah U1 30 &, fSIas mdes, el gR1_____ ST &1

Options:
1) Nominated

by the people.

2) Elected

3) not elected

T

4) not selected
Tt T8t forar

Correct Answer: Elected
RSl

Candidate Answer: Elected

Ey

QID : 180 - When was the Permanent Settlement introduced by the East India Company?

4 3T St gRT T st e @I fea T A?

Options:
1) 1793

2) 1765
3)1776

4) 1765
Correct Answer: 1793
Candidate Answer: 1765

QID : 181 - Jahangir was married to whom?

STEiR forads ary faanfaa 92
Options:
1) Mehrunissa

2) Hazrat Mahal
BoIed Hgel

3) Jodha Bai
e TS

4) None of these
B EEEIEE]

Correct Answer: Mehrunissa

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Candidate Answer: Hazrat Mahal
BoIRd Hgel

QID : 182 - 66" degrees north latitude marks what?

667 3T I STETIT T SATAT 82

Options:
1) Tropic of Cancer
ek 3@m

2) Tropic of Capricorn

HRR 3T

3) Arctic Circle

IR Y4 (3MTehfeen) gd

4) Antarctic Circle

giarT gg (sferféen) ga

Correct Answer: Arctic Circle

IR Y (3MTchfeeh) g

Candidate Answer: Tropic of Cancer
ek @1

QID : 183 - What is the duration of cold weather season (winter) in India?

IR A &8 & HaH (T<) i srafdy i g2

Options:
1) March to May
A 4 7

2) October and November

SFER Y TR
3) December to February
ER TG

4) June to September
7 & Raer
Correct Answer: December to February

fRearaR @ tradt

Candidate Answer: December to February

QID : 184 - Which of the following is/are Abiotic components?

I. Rocks
Il. Plants
1. Soil

frafafea 3 @ &9 & g uee 82

I 9g=
1. o

.

Options:
1) Only |
et |
2) Only Il
ccll

3) Both land Il
| e 11l &t

4) Al 1l and 1l
goft |, i

Correct Answer: Both | and |l

| o 1l gt

Candidate Answer: Both | and IlI
| g2 Il gt

QID : 185 - The hardest part of a tooth is the .

Teh &1 T hERaH AT ____ T 2|

Options:
1) Gumline

2) Enamel
3) Pulp

ool
4) Root
e
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Correct Answer: Enamel

Candidate Answer: Enamel

QID : 186 - Lungs have a large number of alveoli for

Thohgt & RISt I ok It T Tt St 8 1

Options:

1) having spongy texture and proper shape

ThTRS! Sl TSl FTae SR TR TR 37 &

2) more surface area for diffusion of gases

et & faaRoT 8q o1fdes Tag! & & fag

3) more space for increasing volume of inspired air
a1g & TG §Y ST oh folq S1fdeh W &g

4) more nerve supply

sifires et Sy B

Correct Answer: more surface area for diffusion of gases

et 3 ForROT 2 ATk T} & & Forg

Candidate Answer: more surface area for diffusion of gases

et 3 ForROT 2 oHforeh ) & & Forg

QID : 187 - When do the magnets loose their properties?

Y& U 0T el @T & 87
Options:

1) On heating

™ &AW

2) On hammering

e e wR

3) On dropping from some height
Jaré & fIRTQ o1 R

4) All options are correct

gt faehey Tt €

Correct Answer: All options are correct
goft foemey Tt €

Candidate Answer: On hammering
g @ fied R

QID : 188 - What is the distance covered by an object in unit time called?

foneit avg gRT Tenich T & a9 Y TS gt <Rt oI g &2
Options:

1) Force

EGl

2) Speed

e

3) Motion

it

4) Acceleration
0T

Correct Answer: Speed
Tt

Candidate Answer: Speed
Tt

QID : 189 - What does an information becomes after input into a computer?

FYR A 3AYE & TG SRR T hgald a7
Options:
1) Program
U
2) Software
roeaaR
3) Hardware
4) Data
I .g

Correct Answer: Data
I g.

Candidate Answer: Data
I g.
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QID : 190 - The process of converting gas into liquid on cooling is called

EST e TR IR bl 719 B Scer ahl TfhaT ot gl ST &1

Options:
1) Evaporation
arefieor

2) Condensation
g

3) Diffusion
Ao

4) Sublimation
IefuraT

Correct Answer: Condensation

oy

Candidate Answer: Condensation

kit

QID : 191 - CO, turns lime water milky, due to the formation of

3 T & HIROT T o T Al faT S S B

Co,

Options:
1) Cay0,

2) CaCOj
3) Ca(OH),

4) Cazoz
Correct Answer: CaCO3
Candidate Answer: Ca;0,

QID : 192 - Which among the following is not a natural ecosystem?

Freafeifra & & i & qo TTepies uRe 7 &2

Options:
1) Forest
a1

2) Pond
BIGIE)

3) Lake

Eic

4) Gardens

CoicH

Correct Answer: Gardens

Candidate Answer: Gardens

QID : 193 - Which among the following are the basic services provided under Smart Cities Plan?

Freforfea & & o @ W R diom & sit e et &2

Options:
1) Adequate water supply
AT STer Y Sgfef

2) Assured electric supply
fersTeft <t smyfct

3) Sanitation, including solid waste management
3G JufAE yee gfgd Weadr
4) All are basic services

A uoft e gfaeng &

Correct Answer: All are basic services

T goft g gfaemd §

Candidate Answer: All are basic services
T goft go gfaemd §

QID : 194 - Who invented Stethoscope?

VYRR &7 fIshR fohem fmar?
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1)pDavid Bushnell

SECEREC]

2) James Watt

S afe

3) James Harrison

S

4) Rene Laennac
Corre_ct Answer: Rene Laennac
Candidate Answer: [ NOT ANSWERED ]

QID : 195 - Who was the first Indian women to scale the Mount Everest?

TTSE TR IR e aTell UUH YR Afger s ofi?

Options:

1) Bachhendri Pal
EECHRICH

2) Chhurim Sherpa
T4 2RaT

3) Anshu Jamsenpa

gl ST

4) Anita Kundu

NIRRT

Correct Answer: Bachhendri Pal

AL Ut

Candidate Answer: Bachhendri Pal
AR

QID : 196 - Shirts, trousers, skirts etc were brought to India in the eighteenth century by whom?

ST, U, Whe TS HRA 7 SR Tl A fhdieh GRT A1Q TG 97

Options:
1) Europeans

2) Mongols
e

3) Afghans
ST
4) Turks

Correct Answer: Europeans

Candidate Answer: Europeans

QID : 197 - Who among the following is not a recipient of Dronacharya Award 2017?

frfefea # § & ghomarf QRERR 2017 &1 UTedchd Tal 82
Options:

1) Dr. R Gandhi

ST, IR, et

2) Sardar Singh

R Rig

3) Roshan Lal

A A

4) G.S.S.V Prasad

St Tg. 9. ). gare

Correct Answer: Sardar Singh
R Rig

Candidate Answer: [ NOT ANSWERED ]

QID : 198 - Who is the author of book named "Essays on Gita"?

Options:

1) Bal Gangadhar Tilak
TeT LR

2) Ayub Khan

3RE @

3) Indira Gandhi

iRy ieft

4) Aurobindo Ghosh
SRfdel gy
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Correct Answer: Aurobindo Ghosh

Candidate Answer: Ayub Khan
3gE @i
QID : 199 - Which among the following is an annual conference of geopolitics and geo-economics held in New Delhi?

frafafea & @ o a1 75 Recht 7 omaifSia o1 8fiR of-srefamet ot anftfes wwter 82
Options:

1) Shangri-la Dialogue
STARY-eT araf
2) Hague code
IS
3) Raisina Dialogue
T araf
4) Petrapole dialogue
araf
Correct Answer: Raisina Dialogue

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - Arun-lll Hydro Electric Project is to be set up in which neighbouring country of India?

IRA & fohg USIl 321 F SruT-11 ET3E! Seifcreh URTISTHT ht LT i ST+ 82

Options:
1) Myanmar
AR

2) Bangladesh
TreATeRT

3) Afghanistan

SR

4) Nepal
Juted
Correct Answer: Nepal

Candidate Answer: Nepal
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